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I .Vocabulary: 20% ,
Choose the appropriate word according to the given context, and then write its
corresponding letter on your answer sheet.

1. He couldn't showing off his new car.

(A) resist (B) resolve (C) replicate (D) resign
2. Hersonis to computer games.

(A) adept (B) adopted (C) adapted (D) addicted
3. Thg invention of writing was the most of all human inventions.

(A) revelation (B) revolutionary (C) Renaissance (D) recreation
4. Ifyour gets too serious, you should go to the hospital for help.

(A) radiation (B) emptiness (C) insomnia (D) loveliness
5. Standing by this chair, I was amazed by its delicacy.

(A) alluring (B) antique (C) abundant (D) accurate
6. is the scientific study of the spread and control of diseases.

(A) neurologist (B) psychologist (C) epidemiology (D) physicist
7. The conference was attended by from 65 countries.

(A) delegates (B) diligent (C) decorate (D) disabled
8. The data can be in many different ways.

(A) interrupted (B) intruded (C) interfered (D) interpreted

9. The acceleration of the global economy—with the associated decline of people
having any kind of control over wages and working conditions—is a chief

(A) celebrate (B) corrupt (C) culprit (D) connection

10. Don’t call us lazy; researchers say that laziness is a minor factor because is
so time-consuming.
(A) parallel . (B) procrastination (C) pretend (D) protection

I.Grammar: 20%

In questions 1-10, each sentence has four underlined words or phrases marked(A),(B),(C),
and(D).You are to identify the one that should be corrected and then write its
corresponding letter on your answer sheet.

For example: Many water is needed for people living in dry area. ';;,;;5 4% -ﬁ‘
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The best answer is"(A)

1.

10.

i1

Frequently Internet users get in touch more not just online but by phone and in

A B C
person.
D
Some people think that computers and calculators are robing people of valuable
A B C
skills.
D
. The production_of electricity sometimes causes pollution, but creative engineers can
: A B
find ways to produce_it without destroy the environment.
C D
A study of U.S. cities reveals that death rates are more than twenty percent high in
A B C
January than in August.
D
. We have booked ourselves so full of pre-scheduled activities that there is no time
A
left for those magic, spontaneous moments that makes us feel most alive.
B C D
The frantic pace of developments has utterly transformed Dubai from a sleepy trading
A B
and pearl-diving village of the 1960s to one of the word’s flashiest metropolises.
C D
The pump is much more efficient than a traditional hand pump and can move up to
A
1,400 liters of water per hour, depends on the depth of the borehole.
B C D
While successful transplant operations number by the hundreds of thousands, there
A B C
could be hundreds of thousands more if donors were more plentiful.
D
About 290 of the school’s 550 students have voluntarily enroll in this class, which
A B C
is offered to kindergartners through fifth graders as a lunchtime activity.
D
Research had shown strong correlations between the level of performance of student
A B
violinists and the number of hour they _practiced.
C D

.Cloze Test: 30%

In the following passage, there are ten blanks where words or phrases are left out. For
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each blank, there are four choices marked (A), (B), (C), and (D). One of the choices best
fits the blanks.

Choose the best answer and write its corresponding letter on the answer sheet.

Shadowing was an important part of the class. One student, Adam, (1) a husband and
wife. They work with many non-profit organizations in the community. Adam and the
couple went shopping with elementary school children to buy holiday gifts for poor
families. Adam also had dinner with the couple once a week and had many discussions
with them about (2) others. Two other students, Nicki and Ben, (3) the director of a
homeless shelter. They students (4) food to homeless people and they helped the director
raise money (5) the shelter.

1. (A) followed (B) following (C) was followed (D) have following
2. (A) helped (B) to help (C) helping (D) help

3. (A) shadow (B) shadowed (C) shadowing (D) has shadowed
4. (A)dropped (B)served (C) spotted (D) dedicated

5. (A) by (B) with (C) for (D) in

When families can’t afford kerosene, or it is (6), they rely (7) dung or wood to produce
fires to light the home. Burning dung is a source of pollution, and (8) bare the landscape
in search of wood fuel for lighting (9) as a primary environmental problem in the
developing world. It is responsible for habitat loss, mudslides, (10) of forest production,
soil erosion, and water pollution.

6. (A) incredible (B) unavailable (C) unbelievable (D) unpredictable
7. (A) about (B) to (G on (D) for

8. (A) laying (B) lay (©) lie (D) lying

9. (A) was recognized (B) recommends (C) was recommended (D) is recognized
10. (A) loss (B) lost - (C) lose (D) loses

English has certain (11) that make it especially useful. It has (12) vocabulary. Early
English developed from Germanic languages, which gave it the most common words we
use today, such as the, is, of, go, you, man and woman. However, from the beginning,
English borrowed words from other European languages, including Latin and Greek.
After (13) from France took over England in the year 1066, English gained a great many
French words. (14) that time, English has (15) useful new words from many other
languages—from Spanish, Arabic, Turkish and Japanese, to name just a few.

11. (A) quality (B) quantity (C) quantities (D) qualities

12. (A) a huge (B) limited (C) restricted (D) huge

13. (A) candidates (B) examiners (C) invaders (D) investigators
14. (A) When (B) Since (C) Before (D) In

15. (A) surrounded (B) wondered (C) welcomed (D) filled
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IV. Composition: 30%

Write an English composition in about 250-300 words. Your composition must contain
an introductory paragraph, one or two discussion paragraphs, and a concluding
paragraph.

What would the world look like in 2110? Make some predictions with your vivid
imagination. Use specific details and examples to support your answer.
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